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Sy =y + 8 Find the value of ¥ in the ghven ) B g Py Sk
paraiielogram
Sy;y:g e
y -
y=8+4
y= 2 5y
< =13 a
o yom 5
@ LR a
gAMLV s3lgie Ligy Parallelog angles

Find the value of x in the given
parallalogran.

2x—1=75
2x=75+1
2x =786

. S‘%ﬂ‘ll_ﬂj—-'ﬁxuﬂf

(2= — 1)

°© x=76+2 -

>

® =238 @ =
. L

¥Which of the following
quadiiisterals is & parallslogram?
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Quadrilateral DEFG s a rectangle. s DEFG el o

W FD = 3IX —~ 7 and EG — X -+ 5. JEG = X+ 5 3FD = 3X — 7 Ja5\3
find EG. VEG syl
T'.‘:_“ '.ll‘l'|

..,,-‘.J (= ] E

—

i S ESEL,

3x—=T7T=x+5

[ 3 F
= 3x—x=7+5 . i
ax=EL
o o b
x=12+2
¢ x=6 - c
o EG=0645=11 a
Cuadrilateral ABCID is a rhombua. s ABCD sl 22
" AR — 14, find BC . AR = 14 JA5 V5
25k
BC =14
0 a
(=]  u]

(9] @ 1] o
Quadrilateral ABCD is a rectangle. Sl ABCD sty S22
If s 1 = 40%. find the measurs L2 e syl T = 40" AL M
of ~2
T g e R EPS
) D E
iadl > g
L2 =
90— 40 = 50 & F

o 40°

Q 20" 2

Ouadrilateral WXYE s a squars. S WXYE Lo =i



Quadrilateral WXYZ is a square. s WXYE aien Joan

HWT — 3, find X EX syl WT = 3 AT 3
d__._,...'.l"_id_,.hill
; X w
)!‘h?lt = ‘_‘ﬁ 1- " L‘_.'L'L_-'Et' . T =
WY==6 ZX =WY >
IX= 6 = -
=X Y Z
(o] 2 E
o 3 b
< L5 .
® o
Find the meoasure of <L in the T I T RTNL N 0 I g |
traperoid below. 6

A e i ) \’b

Albiasae il Ll y 5
LL=4M
£L = 80

o @ . <

Which o th following statements Wi o 4 4 o

ig abways trug?

° The paralielogram’s diagonals are perpendicular a
. ekl Sd i
The rectangle’s disgonals are congruent. ]
i P P [ ]
5 Sai e ‘

The rectangie’s diagonals are perpandicular.

.L..‘q- a = T
o e g o o

Tha rhombus’s diagonals are congruesnt.
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Find x and y so that the S TN S, S W g X waetyl gl

guadrilateral bolow is a vl e stz
";,';':’;;'“ 5y —26 =4y + 4
x—SGATX “"'-zﬁwdry=26+4
=8 Ay + 4)" i y = 30
O X e 5, y o= 124 ]
(o] x=0, y— 124
. =, ¥ =30

o x = 56, y = 30 11 =
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Use the roster method 1o write the @;ﬁ,ﬂ.ﬁ_ﬁm,s_l

{1:21\?':4;5} mdmﬂmnhuh-ﬂm&.\@ 6 5 K D dagkd 25T

oY
&

o (0.1,2,3.4.5}

o] ®.\® {1,2.3.4.5.6) ‘] 2 E*

Which of the following statements Tagad 50 S0 §
is true?
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Let A =~ (3.6,912) A= (3,69 12) =
A AL i and = {2.4.6 810,12, 14]. B=(24.681012.14) 5
5,12 Find AnB.

04 yaall A (5 SRS Sl sl ga gl ANB )

3.6,12] a

(6,12] b
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(12,14)

Which of the following sets \ e e g el S22 et F

contains the clements 2.1&
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